Quiz 29

1) How should these pairs of hands be bid?
West is always the Dealer, opponents do not intervene, and the last bid is always ‘Pass’

a) b)
A 83 N a KJ76 a AK2 N a Q5
v AKQ2 W E v 54 v AQJ6 w Eel?Y 92
¢ AQ65 S ¢ 743 ¢ Q952 S ¢ KJ43
% 852 % Q763 & 105 « KQJ94
West East West East
c) d)
a QJ105 N a K632 a AQJ5 N A 10843
v 64 W E v AK92 v 95 W EIY KQ76
¢ 85 S ¢+ KQ6 ¢+ K6 S * A2
& AJ986 & 52 & KQ1084 & J96
West East West East
€) f)
a AG3 a J102 A 653 o AQ974
v 92 v KQ87 v KQ9 v A864
¢ K10654 * AJ72 ¢ 762 + K98
% AKJ % Q3 « K1054 w7
West East West East
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